Chapter 1
1.  A systems administrator should use DHCP in a large network environment.  DHCP will severely reduce the amount of overhead required when managing such a network.  When the administrator wants to make a global network change they simply make the modification on the DHCP server which will then propagate the change to all client machines instead of manually making the change on all machines.

2.  DHCPDISCOVER, DHCPOFFER, DHCPREQUEST, DHCPACK

3.  When the renew fails the DHCP client will act as if it was obtaining an IP address for the first time and go through the standard IP address acquisition procedure outlined above (question 2).

4.  Create a DHCP reservation for the DNS server on 192.168.0.200 so that no other DHCP clients can use that address.

5.  You would manually enter the DNS servers on the 10 machines while leaving the rest of the network configuration to DHCP.

Chapter 2

1.  B
2.  A; the A record is automatically updated by the client and not the DHCP server.

3.  The DHCP server is not part of the DnsUpdateProxy group.
4.  T
5.  D

6.  C
7.  B
8.  C
Chapter 3

1.  The secondary server does a SOA query and if the secondary server finds that the master zone has a higher serial number the zone is transferred.
2.  IXFR queries send only updated information across the network whereas AXFR queries send all zone information across the network.
3.  D
4.  A
5.  You would setup your network so that only one DNS server will perform all queries that cannot be resolved on the internal network.

6.  

7.  F

Chapter 4

1.  Round robin is a simple way of “load balancing” the DNS servers so that no-one server is used excessively.  This is achieved by rotating the order in which DNS servers respond to queries.

2.  Netmask ordering takes priority over round robin.

3.  A,b

4.  A,b

5.  D

6.  A,b,d

7.  D

8.  A

